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Two identical antennas mounted on identical towers are separated from each other by a
distance of 45 km. What should nearly be the minimum height of receiving antenna to

receive the signals in line of sight ?
(Assume radius of earth is 6400 km)
Options :

8643516481, /2-1 m

8643516482, 2200 m

8643516483, 1002 M

8643516484, 1077 m

Question Number : 1 Question Id : 8643512161 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
21 HHEY TR 9 = 21 JaEe T U g6 9 45 km F1 90 R fom 31 3fe wEE famwi
Aferrev 3 T, ST TR 1 <A S e faree e e 2
(ge=t =1 =21 6400 km HIHT)
Options :

8643516481, /2-1 m

8643516482, 2000 M

8643516483, 1002 M

8643516484, 1077 m

Question Number : 2 Question Id : 8643512162 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The de-Broglie wavelength associated with an electron and a proton were calculated by
accelerating them through same potential of 100 V. What should nearly be the ratio of their
wavelengths ? (m,=1.00727u m,=0.00055u)

Options :



8643516485, 3 : 1

8643516486, 1860 : 1

8643516487, 1411

(1860)% : 1
8643516488.

Question Number : 2 Question Id : 8643512162 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fordl sorael 2R fRdl 9 | Hag sl qiiesl #1 9o 5= 100 V & 79 fave 4 =fia
FF TR AT ST T 1 S ST BF] S1eT, R
{mp= 1.00727u; m,=0.00055u)

Options :

8643516485, 431 1

8643516486, 1560 : 1

8643516487, 1411

(1860)2 : 1
8643516488.

Question Number : 3 Question Id : 8643512163 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The refractive index of a converging lens is 1.4. What will be the focal length of this lens if it
is placed in a medium of same refractive index ? Assume the radii of curvature of the faces
of lens are R; and R, respectively.

Options :

8643516489, 2CT0

8643516490,

8643516491, nfinite



"Ry R,

Ry — Ry
8643516492.

Question Number : 3 Question Id : 8643512163 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

el SAfER o &1 AvadiE 1.4 €1 AfE 50 F9F AYgdis o T 91eE | T 9, o sHe
T U 1 ENT 7 59 WH 6 TBI F Gl A A9 R, S R, A

Options :

8643516489. =

8643516490.

8643516491.

"Ry R,

Ry — Ry
8643516492.

Question Number : 4 Question Id : 8643512164 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Red light differs from blue light as they have :
Options :
8643516493, Same frequencies and same wavelengths

8643516494 Different frequencies and different wavelengths

2643516495 Same frequencies and different wavelengths

Different frequencies and same wavelengths
8643516496.

Question Number : 4 Question Id : 8643512164 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



AT F o GRS Al 991 % 9ISl § T 21 B, it s
Options :
Agtal TaE AR Fresd guE #

8643516493.

Al 91 3R atresd 9= &

8643516494, ¢

8643516495, ATl I ST e firer &

8643516496, NI 31 ST TG FAF ¢

Question Number : 5 Question Id : 8643512165 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

—3 £ o M
The magnetic field in a region is given by B =B, l s |Ir. A square loop of side d is placed
\a/ — M

with its edges along the x and y axes. The loop is moved with a constant velocity v =v, i .

The emf induced in the loop is :

Y

A

Options :
B, v d

00

8643516497, 24

8643516498. a

8643516499,  2a



B, v,d>
8643516500,  2A

Question Number : 5 Question Id : 8643512165 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
._‘ AT = - s r = Y = = 2
ﬁmmmqqmmu&¢5=m]iu%lgmd%hmﬁﬂwwmﬁmﬁmwmxﬁwaa
La/ :

3 ST T U T T ¥ A W e P A o = o, W A 1 59 e R em ¥

Y
A
OF
d
d
> Y
Options :
B,v,d
8643516497, 24
BU IJU d‘_

8643516498. a

8643516499, 22

8643516500,  2A

Question Number : 6 Question Id : 8643512166 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Amplitude of a mass-spring system, which is executing simple harmonic motion decreases
with time. If mass=>500g, Decay constant=20 g/s then how much time is required for the

amplitude of the system to drop to half of its initial value ?
(In 2=0.693)

Options :

8643516501, 246

8643516502, 1°-01 s

0.034 s
8643516503.

8643516504, 1732

Question Number : 6 Question Id : 8643512166 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Tt fave ot e =1 21/, S 9 2Ed T F T@ E, 969 F W U2 @ 2| Afe fave @
FHAM=500 g, &FF =20 g/s ¥, 30 1 F 2190 F1 T2H 3T T T9 F A 39 F fea
|G @M 2?7 (In 2=0.693 Eifeg)

Options :

8643516501, 369 S

8643516502, 1°-01 s

8643516503, V034 S

8643516504, 1732

Question Number : 7 Question Id : 8643512167 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Calculate the value of mean free path (A) for oxygen molecules at temperature 27°C and
pressure 1.01x10° Pa. Assume the molecular diameter 0.3 nm and the gas is ideal.
(k=138=10" K™Y

Options :



2
8643516505, 2 nm

58 nm
8643516506.

8643516507, 50 NM

102 nm
8643516508.

Question Number : 7 Question Id : 8643512167 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A9 27°C 317 214 1.01 x 10° Pa T SATFdToH 103t % fou #re gaa 99 (A) 1 9F IHfod Sife |
7E WY foF enfvas =9" 0.3 nm 3R T o= 21 (k=138 x10" 2 JK 1)

Options :

v
8643516505, 22 Nm

58 nm
8643516506.

8643516507, S0 NM

102 nm
8643516508.

Question Number : 8 Question Id : 8643512168 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What will be the nature of flow of water from a circular tap, when its flow rate increased
from 0.18 L/min to 0.48 L/ min ? The radius of the tap and viscosity of water are (.5 cm and
10~ 3 Pa s, respectively.

(Density of water : 10° kg/m?)
Options :
643516509 -teady flow to unsteady flow

8643516510, Onsteady to steady flow



8643516511, remains steady flow

8643516512 Nemains turbulent flow

Question Number : 8 Question Id : 8643512168 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ot IR 22 | 9ol I ga@ &2 H 0.18 L/min H 0.48 L/ min %1 gf§ & W el % T2 Hi
Ffa = 21t 2 2iE 1 T a9 9 T FEI: 0.5 cm AR 10 2 Pas €

(S &1 =9 = 10° kg/ m?)

Options :

8643516509. TR YaE N SRR Ha

8643516510. ne 5

8643516511.

8643516512, Aone A= L&l

Question Number : 9 Question Id : 8643512169 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A charge Q is moving dl distance in the magnetic field B . Find the value of work done by
—

B .
Options :

8643516513, 1

8643516514, 2810

8643516515, nfinite

8643516516.



Question Number : 9 Question Id : 8643512169 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T AW Q, THHET 49 B H dl T T 1 AT 49 B GRI R U ok T W B0
Options :

8643516513, 1

8643516514. £ 5

8643516515.

8643516516.

Question Number : 10 Question Id : 8643512170 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Calculate the time interval between 33% decay and 67% decay if half-life of a substance is
20 minutes.

Options :

20 minutes
8643516517.

40 minutes
8643516518.

A0 minutes
8643516519.

13 mimrter
8643516520, - Lntes

Question Number : 10 Question Id : 8643512170 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
7ife fardt gered =1 a7y 20 fo2 B, o1 33% 219 2R 67% =14 % == = THT B
Options :

-
8643516517. -



8643516518. 9

8643516519. 60 &

8643516520, 13 THTE

Question Number : 11 Question Id : 8643512171 Question Type
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: MCQ Option Shuffling : Yes Is

For the given circuit, comment on the type of transformer used.

i i 011A

e

]||[s]

220V @

Options :

8643516521 Step - up transformer

264351650y, Otep down transformer

Auto transformer
8643516523.

Aunxilliary transformer
8643516524. 3

Question Number : 11 Question Id : 8643512171 Question Type
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: MCQ Option Shuffling : Yes Is



fau U wftgy ¥ fou S R SFaEe I TSR 2
iy i 011A
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— = =
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Options :
8643516521. e :

8643516522. g

8643516523, %

T

8643516524. i

Question Number : 12 Question Id : 8643512172 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The half-life of Au!®® is 2.7 days. The activity of 1.50 mg of Au!®® if its atomic weight is
198 g mol ! is, (N, =6x10%/mol).

Options :

240 Cj

8643516525, 240 Ci

"%
8643516526.

8643516527.

8643516528, 20 ¢

Question Number : 12 Question Id : 8643512172 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Au' = g 2.7 fa7 B1 AfE Aul?® F1 snfra® 2=99H 198 g mol ~ 1 &, @ Au'?® F 150 mg =i

Hfsraar g ;. (N, =6x 102 /mol)

Options :
240 Ci
8643516525.

357 Ci
8643516526.

8643516527, 222 Ci

535 i
8643516528.

Question Number : 13 Question Id : 8643512173 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A bimetallic strip consists of metals A and B. It is mounted rigidly as shown. The metal A

has higher coefficient of expansion compared to that of metal B. When the bimetallic strip is

placed in a cold bath, it will :

Options :
2643516529, Bend towards the right

3643516530. Bend towards the left

8643516531. Not bend but shrink

8643516532. Meither bend nor shrink

Question Number : 13 Question Id : 8643512173 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



F1E fgenfeas e 21 sgeti A AR B o1 &1 59 3 H 9T ATIR Sedyds AR fH1 7
T 919 A S THR Wi 91q B HT go § Afasw ¢ 1 o 59 Tgenfeae ufzen 1 T it e F T
W €, o a8 e ;

Options :
8643516529. e

8643516530. e SR

8643516531. & T Ps

T g2 SR T & faget
8643516532 = Sl 2

Question Number : 14 Question Id : 8643512174 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A large block of wood of mass M=5.99 kg is hanging from two long massless cords. A bullet
of mass m=10 g is fired into the block and gets embedded in it. The (block + bullet) then
swing upwards, their centre of mass rising a vertical distance h=9.8 cm before the
(block + bullet) pendulum comes momentarily to rest at the end of its arc. The speed of the

bullet just before collision is :

(take g=9.8 ms™?)
ILLL L]

m
M
—
v

Options :




8643516533, o114 m/s

8643516534, 5214 m/s

8643516535, o014 m/s

8643516536, Cri-4 m/s

Question Number : 14 Question Id : 8643512174 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

MM M =599 kg &1 1§ @hE F ged [eF o o=l FHHeEE Sl ¥ @2 g1 =M,
m=10 g Tl FIE Tl 59 2% | IO T & 5 59 F o T @ 9wt ¢ R (e i) R
I AR e € aun = % A W, (i) @ & 59 @ F fou famm § a9 | @, s
u%ﬁr??ﬁ’ma‘imqﬁ h=9.8cmﬂ*‘nﬁm?r?x?ﬂ%| Wﬁﬁ"ﬁﬁaﬁ?ﬁ%

(g=9.8 ms 2 wHifem)

GO IET I i S

m
M
—
v

Options :

8643516533, 114 m/s

8643516534, D214 m/s

8314 m/s
8643516535.

8414 m/s
8643516536.



Question Number : 15 Question Id : 8643512175 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Statement 1 : A cyclist is moving on an unbanked road with a speed of 7 kmh ! and
takes a sharp circular turn along a path of radius of 2Zm without reducing
the speed. The static friction coefficient is 0.2. The cyclist will not slip and

pass the curve. (g=9.8 m/s%)

Statement 11 : If the road is banked at an angle of 45° cyclist can cross the curve of 2m

radius with the speed of 18.5 kmh ~! without slipping.
In the light of the above statements, choose the correct answer from the options given below.
Options :

643516537 Both statement I and statement 11 are true

3643516538, Both statement I and statement 11 are false

643516539 Statement 1 is correct and statement 1l is incorrect

Statement 1 is incorrect and statement 11 is correct
8643516540.

Question Number : 15 Question Id : 8643512175 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FIA 1:  fHH fan g 9= W7 kmh ! F T H TfdHH FE AEfEG@ER SO 9 FH
U fo 1 2 m B & 99 R dten 96T qre o @1 wifas T s 0.2 81 TE
ArsfRerar FE fRaerm 7 o o 7o STl (g=9.8 m/s?)

HUT 11 : Al 98 TS 45° F T FH! &, °l WEHaEar 2 m 50 F 5% 51 7 fFaa
185 kmh ~ ! &1 9€1 § 9K F 0

SHE FIA & HeH H A9 G T fawed § 9 999 " W 964

Options :

c643516537. ST FAT I R HIT 11 T2 &

2643516538, Tl e 1 3 FHAT 11 7T &

0643516530, FIT 1 TR & 3R HA 11 7o €



8643516540.

FUF | T & AN HUT 1 TE T

Question Number : 16 Question Id : 8643512176 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A mosquito is moving with a vr_-locit}-'

e
i)

=05t

55

i + 3t ';" Ok m/s and accelerating in

uniform conditions. What will be the direction of mosquito after 2 s ?

Options :

8643516541.

8643516542.

8643516543.

8643516544.

e _
tan —| from x-axis
L 2)

s _
tan | = | from y-axis
\2)

5l 2
tan — | from x-axis
=y

1(2)

tan — | from y-axis
3 ) fromy

Question Number : 16 Question Id : 8643512176 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FEFBIFR AT 0 =052 + 3tj + 9k m/s J 7 A 8 3 THTHA A H§ @i 2

T | 2sF YvEN TH T=3% FI T FI 90 = 2t ?

Options :

8643516541.

8643516542.

8643516543.

T T i
x-HAF A tan 1(—|
\ r

TR 6
y—\?ﬂﬁﬁﬂ tan 1[—|
\_2)'

-,



A 2
y-31% 9 tan l{ﬂ
8643516544, R

Question Number : 17 Question Id : 8643512177 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In order to determine the Young's Modulus of a wire of radius 0.2 cm (measured using a
scale of least count=0.001 cm) and length Im (measured using a scale of least
count=1 mm), a weight of mass 1 kg (measured using a scale of least count=1 g) was
hanged to get the elongation of 0.5 cm (measured using a scale of least count 0.001 cm).
What will be the fractional error in the value of Young's Modulus determined by this
experiment ?

Options :

8643516545. R

=
8643516546, 00

g
8643516547, 0- 14"

-
8643516548, ° °

Question Number : 17 Question Id : 8643512177 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

5= 0.2 cm (2q@9 % 0.001 cm F THH ¥ 999 W) T =08 1m (SAeTqHF 1lmm & 999
A9 W) % fHH dR % =40 Uik H FEiRE w1 F G0 T 98 F UE 5 W 1 kg FO9R
(SATTTHIF 1 g F T9E H 79 W) FedH W AR F 91 0.5 cm (AeITq i 0.001 cm F T9E F
T W) B &1 59 vEn § fAuifa =@ e F 5e § faeere (e o= ani ?

Options :

.
8643516545, 11 7

=
8643516546. 0. )%

e
8643516547. s



-
8643516548, ° ©

Question Number : 18 Question Id : 8643512178 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A resistor develops 500 | of thermal energy in 20 s when a current of 1.5A is passed through
it. If the current is increased from 1.5 A to 3 A, what will be the energy developed in 20 s.
Options :

8643516549. 208

8643516550. g

8643516551. 1500 J

2
8643516552. 2000

Question Number : 18 Question Id : 8643512178 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Tt afefiear 4 1.5 A 9T 20 s 9% Waifed fy 9H W 30 500 | SO S 301 2dl &1 97 &
A H 1.5 AT 3 AFE W20 s H I9 el .41 22

Options :

8643516549, 00 J

8643516550. g

8643516551, 1200 ]

?
8643516552. 2000 J

Question Number : 19 Question Id : 8643512179 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Find out the surface charge density at the intersection of point x=3 m plane and x-axis, in

the region of uniform line charge of 8 nC/m lying along the z-axis in free space.



Options :
47.85 C/m
8643516553.

R S
8643516554, U-07 nC m

A7 1 2
8643516555, 0124 nC m

40nCm2
8643516556.

Question Number : 19 Question Id : 8643512179 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

HFH SN H 234 F Hﬁﬁﬂf@ﬁﬁnfhn%mﬂﬁaﬁq S99 % Jo9 H fag x=3m W
IS AN H 1 B0 |

Options :

8643516553, * 00 &/m

ey =2
8643516554, 007 nC m

0.424 nC m 2
8643516555.

b
8643516556, 10 nC m

Question Number : 20 Question Id : 8643512180 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The following logic gate is equivalent to :

D

A—Do_
DD_




Options :

8643516557, D Gate

8643516558, [VAND Gate

8643516559, OR Gate

8643516560, NOR Gate

Question Number : 20 Question Id : 8643512180 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
= fezn T wftay fas aHae &2

A D
B—jo—

DD

Options :
8643516557. sl
8643516558, VAND T
8643516559. S
8643516560. PRI TN
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Section Id : 864351146
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Section type : Online
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Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351146
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 8643512181 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

[f one wants to remove all the mass of the earth to infinity in order to break it up completely.
I
% N

The amount of energy that needs to be supplied will be — —— where x is __
5

(Round off to the Nearest Integer)
(M is the mass of earth, R is the radius of earth, G is the gravitational constant)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 21 Question Id : 8643512181 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

7fg Yot 1 YuiG: dred & fau F1E 39 9t 59 T2 Sedl €, 9 S9F forg Smyfd &1 W At

R
AEYIF Sl FT |/ B = % Tix__ & (Femm yois 9% quifsd)
o

(T&T M Y21 1 %=99H, R Tt i B 991 G o i 8)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643512182 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



A swimmer can swim with velocity of 12 km/h in still water. Water flowing in a river has

velocity 6 km/h. The direction with respect to the direction of flow of river water he should

swim in order to reach the point on the other bank just opposite to his starting point is
°. (Round off to the Nearest Integer)

(Find the angle in degrees)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643512182 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

IS TUF 39 741, Tl ofel F 94 97 6 km/h , % WY 12 km/h & T § T =@ 2
| I9F o7 = fagm ° BT =ifeu | (Fehead Ui a quifed)
(o1 =T A 9 H)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 8643512183 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A body of mass 2 kg moves under a force of (2 i +3j 4 51&) N. It starts from rest and was at

the origin initially. After 4 s, its new coordinates are (8, b, 20). The value of b is

(Round off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText



Possible Answers :

100

Question Number : 23 Question Id : 8643512183 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2 kg, T F1FE FI0Z (27 + 37 + 5k N =0 F 79 TR ¥ S0 # o getag W

=i feafa & o1 4 s 9 999 35% U FE90F (8, b, 20) F1 bF AR %1 (Frepeaw qui=
GERCRIIET)!

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
100

Question Number : 24 Question Id : 8643512184 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

e M s A
Aforce F =4i + 3 + 4k is applied on an intersection point of x =2 plane and x-axis. The

magnitude of torque of this force about a point (2, 3, 4) is . (Round off to the

Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643512184 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Rl o F =47 + 37 + 4k B x=2 T AR x- A% F H2H fag W AT9g o1 w0 &1 foredi

fag 3 )F IO I F a0 s FARAWM W (FFaw IUiF 9%

TorifeRd )

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643512185 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A solid disc of radius ‘a” and mass ‘m’ rolls down without slippmg on an inclined planr_-

2 .
making an angle 6 with the horizontal. The acceleration of the disc will be W g sinb ywhere

b is . (Round off to the Nearest Integer)
(g=acceleration due to gravity

6=angle as shown in figure)

P

6

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643512185 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



A | =90 FTER E9F ‘m’ R 5 a7 F FE 3m 9w (feww) dfaw 9 o w99 9
- [ = [ i~ = s 2 s =, g
Rt s Tmad W T firaet 9 =it 3R deF W 1 59 SfRE 1 Egamlﬂ 2. TE b

1 HA g (Fead quis a% quiffea)
(g="TToe =0 G910 = IR H TN STTHR H101 1)

6

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643512186 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

For an ideal heat engine, the temperature of the source is 127°C. In order to have 60%
efficiency the temperature of the sink should be C. (Round off to the Nearest
Integer)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643512186 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Tt =o S5 & fou Eid &1 a9 127°C 81 60% S5l e i & foru f9= (861 =
°C g1 =ifen | (Feheas quiis a% quiifea)



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643512187 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In a parallel plate capacitor set up, the plate area of capacitor is 2 m? and the plates are
separated by 1 m. If the space between the plates are filled with a dielectric material of
thickness 0.5 m and area 2 m? (see fig) the capacitance of the set-up will be 2.

(Dielectric constant of the material=3.2) (Round off to the Nearest Integer)
d

Y

Q‘“

Ix

d

2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643512187 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



fopelt T afgam Hunfa =g ® |uife #it ufes 1 S3%a 2 m2 991 31 il % o= goua
1 m 1 afs afgamed] & =9 & o =/ 4 0.5 m H9eE 991 99%d 2 m2 (31a 2fau) =1 #518
TWEEA T2 R T, @ TH e @ ouiar g, B I (92194 1 WEIAF=3.2)
(FeFean quifer o= quiifead)

d

w
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d
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 8643512188 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The energy dissipated by a resistor is 10 m] in 1 s when an electric current of 2 mA flows

through it. The resistance is ). (Round off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Question Number : 28 Question Id : 8643512188 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

w4 fFt wfadias @ 2 mA 9 yanfed 2l € @ 98 1s § 10 m] Fet 339 F3a €| 59 Wials &1
wfaas Q% (FrFeaq quis 7% quitea)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643512189 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A deviation of 2° is produced in the yellow ray when prism of crown and flint glass are
achromatically combined. Taking dispersive powers of crown and flint glass as 0.02 and
0.03 respectively and refractive index for yellow light for these glasses are 1.5 and 1.6
respectively. The refracting angles for crown glass prism will be ° (in degree).
(Round off to the Nearest Integer)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 29 Question Id : 8643512189 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

134 AR Ter= == = =91 =1 Favsa; A s T diel 50 2° 7w fa=fed 2k g1 #eA
3R Tz 9 &1 TREq &9a1 99 0.02 370,03 31T 59 Fi9l % el W9 & fou s9aaq1is
FEI: 1.5 3R 1.6 &1 T FHSA Fid F 99 F1 SAu=dF ol ° g (frsedd quis 9%
iR )
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
Possible Answers :



100

Question Number : 30 Question Id : 8643512190 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A closed organ pipe of length L and an open organ pipe contain gases of densities p; and p,

respectively. The compressibility of gases are equal in both the pipes. Both the pipes are

X ;L
vibrating in their first overtone with same frequency. The length of the open pipe is EY L Mllﬂ_ﬁ

where x is . (Round off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643512190 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

& fordl @< 3T WIEY a1 ot get S0 959§ A9 p, 371 p, T & T 90 1 S
o L R e py H p, T 1 T i &
el H SR’ T i WS HHE B SF @ 95 THE g F WY S0 Tee At § A

[
WE%'WWWW%Li%Hﬁxﬁw 1 (Frrean quie o
ERUIET)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Chemistry Section A
Section Id : 864351147
Section Number : 3
Section type : Online

Mandatory or Optional : Mandatory



Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351147
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 8643512191 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The INCORRECT statement regarding the structure of Cg is :
Options :

T ':I- 18 o ] 'j‘ . %
8643516571 It contains 12 six-membered rings and 24 five-membered rings.

8643516572, The six-membered rings are fused to both six and five-membered rings.

2643516573, 1he five-membered rings are fused only to six-membered rings.

2643516574, Each carbon atom forms three sigma bonds.

Question Number : 31 Question Id : 8643512191 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
C,p 1 TT=A & foTu Tetd o 2
Options :

3 22— T >y = La = m ke
c64351657]. TR 129 HEHA T T 24 U W T B 2

e W

8643516572, ©- 941 A4 HSH T =il <1, H TewiTa 9o Hifed 2 ¢ |

c643516573, T HEET Aol 1 HCH Foel 3 HwE qordi & @Y 2 e

8643516574, Toeks EnpRR Wkl IESEE Sl e

Question Number : 32 Question Id : 8643512192 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The INCORRECT statements below regarding colloidal solutions is :
Options :
R643516575. “* colloidal solution shows colligative properties.

A colloidal solution shows Brownian motion of colloidal particles.

8643516576.

The flncculating power of AI** is more than that of Na*t.
8643516577.

An ordinarvy filter paper can stop the flow of colloidal par’ricles.
8643516578. g

Question Number : 32 Question Id : 8643512192 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
FIAEE! faeaHl & o Tetd Fon 9 T W H 9 2

Options :
s613516575. O PICIES! facr STupEa o < ¢
8643516576. UF FIAISS! TaergA, FHIemse! FUi &1 A1SAT TG 90T &

8643516577, AP T i Suil vl Na* % srien aifers 2t €

c64351657g, O T froie® 1=, FIeNzel F0 * a2 F1 % TFd 2 |

Question Number : 33 Question Id : 8643512193 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The characteristics of elements X, Y and Z with atomic numbers, respectively, 33, 53 and 83

are :
Options :

8643516579, v Y and Z are metals.

R643516580. X and Z are non-metals and Y is a metalloid.

2643516581 X is a metalloid, Y is a non-metal and Z is a metal.



X and Y are metalloids and 7 is a metal.
8643516582.

Question Number : 33 Question Id : 8643512193 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

el X, Y 91 Z To=ept sivers Sw=ard a9l 33, 53 99183 €, & ATqeso ¢ -
Options :
8643516579, X Y T Z g )

8643516580, X N Z ST & T Y TH TG

8643516581, « o F S g %Y TF A T TN Z T Y 2

8643516582, % AN Y SHHIY € 3R Z U g 2|

Question Number : 34 Question Id : 8643512194 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following reduction reaction CANNOT be carried out with coke ?
Options :

8643516583, | 203 T

8643516584, N0 — Zn

Cu,O — Cu

I

8643516585.

ALO, — Al
8643516586,

Question Number : 34 Question Id : 8643512194 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Frefafad § 9 %4 d S0==F TR S T T8 R T § 7
Options :



Fe,O; — Fe
8643516583, <~ -

8643516584, 1O — £n

8643516585, -2l — Cu

ALO, — Al
8643516586, 2 -

Question Number : 35 Question Id : 8643512195 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The correct statements about H,O, are :

(A) wused in the treatment of effluents.

(B) wused as both oxidising and reducing agents.

(C) the two hydroxyl groups lie in the same plane.

(D) miscible with water.

Choose the correct answer from the options given below :
Options :
3643516587, () (B) and (D) only

8643516588, (O (C) and (D) only

8643516589, (*) (€) and (D) only

3643516590, R ALk} anc {0

Question Number : 35 Question Id : 8643512195 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



H,0, 3 fore ft o £
(A) THF ITAM AfEHE F ITER H FA 2 |

(B) 5 S SRR o ST e S 3w 3 e o ¥
(O) T 3l T v U 7 § 21 ¥

(D) o @ P @ o

TIPS e S—

Options :

3643516587, T (A), (B) W4T (D)

8643516588, 01 (B), (C) 7= (D)

Fad (A), (C) 741 (D)
8643516589.

8643516590, 2 (B), (C) ¥ (D)

Question Number : 36 Question Id : 8643512196 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Identify the elements X and Y using the ionisation energy values given below :

lonization energy (kJ/mol)

15t 2nr.|
% 495 4563
Y 731 1450
Options :
8643516591, ~~ Na; Y=Mg
X=Mg ;Y=Na
8643516592,
8643516593, < 1; Y=Mg
X=Mg;:Y=F

8643516594.



Question Number : 36 Question Id : 8643512196 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
el X A1Y W1 AET Fo o == 72U T JH 9 afeig |

ATIAA At (kJ/mol)

15t zud
X 495 4563
Y 731 1450
Options :
8643516591, <~ Na; Y=Mg
8643516592, <~ Mg ; Y=Na
X=F; Y=Mg
8643516593.
X=Mg ;Y=F
8643516594,

Question Number : 37 Question Id : 8643512197 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The exact volumes of 1 M NaOH solution required to neutralise 50 mL of 1 M H,PO, solution
and 100 mLof 2 M H3P02 solution, respectively, are :

Options :

8643516595, 20 mL and 50 mL

100 mL and 50 mL
8643516596.

: ™
2643516597 100 mL and 200 mL

8643516598, 100 mL and 100 mL

Question Number : 37 Question Id : 8643512197 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



50 mL 1 M H,PO, % @41 100 mL 2 M H,PO, % faeraHi & Iari-iam % ferg 1 M NaOH faream
F ATV TE ST T HE

Options :

8643516595, o0 mL @41 50 mL

R643516596. 100 mL T4 50 mL

643516597, 100 mL @41 200 mL

R643516598. 100 mL 941 100 mL

Question Number : 38 Question Id : 8643512198 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Arrange the following metal complex/compounds in the increasing order of spin only
magnetic moment. Presume all the three, high spin system.
(Atomic numbers Ce=>58, Gd=64 and Eu=63.)
(a) (NH,),[Ce(NO,),] (b) Gd(NO,),; and (c) Eu(NO,;),
Answer is :
Options :
3643516599, @) < ()< (©)

8643516600. Ui R

sea3s16601, ) < (@) <(©)

8643516602, (<) < @) < ®)

Question Number : 38 Question Id : 8643512198 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



frAfafaa ag et F1 Fead o F=wg Al F Fed w9 § =aaied Fifau| =i &l
¥=9 foq A wF wifsu | (nfias 9= 8 Ce=58, Gd =64 91 Eu =63)
(a) (NHy),[Ce(NO;)g] (b) Gd(NO;); T () Eu(NO;);

W%:
Options :
S
8643516509, @ < ®)<(©)

se43516600. &) < © <(®)

8643516601, (P) < (@) < ()

8643516602, (@) < @) < (®)

Question Number : 39 Question Id : 8643512199 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Fc-:rz and Fs:-y'3 are known when x and y are :

Options :

2643516603, ¥ F» CL Br, Tand y=F, Cl, Br, I

2643516604, ¥ = - €L Br, Land y=F, (], Br

8643516605, X=F Cl Brand y=F, Cl, Br,

8643516606. x=Cl, Br, Tand y=F, Cl, Br, I

Question Number : 39 Question Id : 8643512199 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Fex, @1 Fey, 1 & 9@ x G4 y § 59 :
Options :
2643516603 x=F, Cl, Br, 1941 y=F, (], Br, 1

x=F, Cl, Br, I @1 y=F, Cl, Br
8643516604.



x=F, Cl, Br aaiy=F, CI, Br, I
8643516605.

8643516606, X=CL Br, [Ty =F, Cl, Br, I

Question Number : 40 Question Id : 8643512200 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The green house gas/es is (are ) :

(A) Carbon dioxide

(B) Oxygen

(C) Water vapour

(D) Methane

Choose the most appropriate answer from the options given below :
Options :

(A) only

8643516607.

8643516608, (44) and (C) only

8643516600, 2} (C) and (D) only

8643516610. Plsmo ) ey

Question Number : 40 Question Id : 8643512200 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TTer=sa T/ T :

(A) FTEA SEAFES

(B) ATERHTSH

(C) =& =™

(D) #|EF ™

fau T fashedi § | waitas 3fud sw g

Options :



8643516607. S

8643516608, (A2) T (C) e

8643516600, (&), (C) T (D) Faa

8643516610, (A2) T (B) e

Question Number : 41 Question Id : 8643512201 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List-1 with List-11 :

List-1 List-11
Test/Reagents/Observation(s) Species detected
(a) Lassaigne’s Test (i) Carbon
(b) Cu(ll) oxide (ii) Sulphur
(c) Silver nitrate (iif) N, S, P, and halogen
(d) The sodium fusion extract gives (iv) Halogen Specifically
black precipitate with acetic acid
and lead acetate
The correct match is :
Options :

s6a3s16611, @FD, B, (V). @-Gi
8643516612, @), (B0, (-€iv), ()i
8643516613, @), (B0, (I-(id), (d)-Gv)

2643516614, @)-(1), (0)-(iv), (c)-(ii), (d)-(ii)

Question Number : 41 Question Id : 8643512201 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Tl - | =1 |l - 11 % |19 f5em whifa |

He - 1 Tl - 11
LRIt P e a2 ) LEEIRIRI DR M
(a) ©H T (i) A
(b) Cu(ll) HATFEEE (i) HEH
(c) Toomr aEee (i) N, S, P a9 geieA

(d) Hifesm er fepd UHifew st (iv)  EelloH a9 &9 9
or UHee % Y el 99T < @
'F@‘ﬁﬁlﬁ%:

Options :

g643516611. @), b)-(ii), (c)-(iv), (d)-(iii)
8643516612, (@) (i), (b)-(i), (c)-(iv), (d)-(ii)
8643516613, (@)-(iid), (b)-(i), (c)-(i), (d)-(iv)

sea3516614. @ (0)-(v), (c)-(ii), (d)-(ii)

Question Number : 42 Question Id : 8643512202 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Statement 1 :  Sodium hydride can be used as an oxidising agent.
Statement Il : The lone pair of electrons on nitrogen in pyridine makes it basic.
Choose the CORRECT answer from the options given below :

Options :

R643516615. Both statement | and statement 1l are true

R643516616. Both statement 1 and statement 1l are false

Statement 1 is true but statement 11 is false
8643516617.

Statement 1 is false butl statement 11 is true
8643516618.



Question Number : 42 Question Id : 8643512202 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FITL:  GIfeadq FeEeS &1 UGN SAFANF AT F ®9 H F G ¢ |
HAT I :  ASeeH W ST UHH! SR e I Fl 4id =40 € |
Options :

c643516615. FET 1 A HAT 1 2 g 2

c6a3s16616. FET 1T HAT 11 EF ST g

cca3siceyy. TN 1 HE & A R U1 A @

g7 1 199 F 9
8643516618, T a1 & W 119 8

Question Number : 43 Question Id : 8643512203 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An unsaturated hydrocarbon X on ozonolysis gives A. Compound A when warmed with
ammonical silver nitrate forms a bright silver mirror along the sides of the test tube. The

unsaturated hydrocarbon X is :

Options :
CHy— C=C—-CH,
8643516619.

CH;—C = C—CH;

8643516620. CHy CHy

HC=C—CH,—CH;
8643516621, :

CH,

|
CH;—C=Q
8643516622.



Question Number : 43 Question Id : 8643512203 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
TF ST SEEHEA X, SEH S5 T A Sa1 1 FF A 1 s faer 5e & @y
TH T T Al Tt Hag W U 99HaR THeal g9 91 ol €1 STHgA eselhE X € ¢
Options :
CH,—C=C-CH,
8643516619. :
CH; —C = €—CHg
8643516620. S

C=C—CH,—CH,
8643516621 z

.

CH;—C=
8643516622

Question Number : 44 Question Id : 8643512204 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

SN

Identify the reagent(s) ‘A" and condition(s) for the reaction

5

Options :

8643516623, 2+~ Cl2 7 dark, Anhydrous AlCI;

A=HCl, Zn(Cl,
8643516624. e

—CL UV I
8643516625, 1= 27 UV light

s6a3s16606. 3= HC; Anhydrous AICI,



Question Number : 44 Question Id : 8643512204 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1
g

AfqRHR(HI) ‘A’ 1 791 AfawD % fag FEer s #i gfe=t
Options :

A=Cl, ; sivER, Feied AICL,
8643516623. e :

8643516624, 2= HCL ZnCl,

A=ClL; UV Y&
8643516625. 2

8643516626, 2= FCL; FTSIEi AICL,

Question Number : 45 Question Id : 8643512205 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o COOH
OCH,4 OCH,4
In the above reaction, the reagent “A” is :
Options :
8643516627, s
g : ;
2643516628 Alkaline KMnO,, H

8643516629, 1L Zn—Hg



; ]
8643516630, 1VabHy, H30

Question Number : 45 Question Id : 8643512205 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
CHy COOH

éCH 3 i)CH;

ST Afufwan § sifsds “A” 3E
Options :

LiAIH,
8643516627,

AE KMnO,, H*
8643516628. St

8643516629, L Zn—Hg

; b
8643516630, TVabHy, H30

Question Number : 46 Question Id : 8643512206 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

N () CHsMgBr  Ether
| (1.0 equivalent), dry '
RRTNG e () RO Major Product
OCH;4

The structure of X is :

Options :



<l W L
L
8643516631. O
f ‘ NH,
S
OCl 13
8643516632.
L -
o
C,&,H;‘;
8643516633.
C‘)
— ‘ TSCeHs
‘“‘H& rf"'f CeHs
8643516634.

Question Number : 46 Question Id : 8643512206 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

P o P Sl (i) CeHsMgBr Ether
(1.0 equivalent), dry y

OCH;,
X H I
Options :



[ ‘ ~C,H
OCH,4
8643516631. *
—
OCH,
8643516632.
i e
[, : ‘ NHQ
e ___a--"'-f .-"'.-'.
CH-
8643516633. 6°75
I‘C[
H - - C& H5
8643516634.

Question Number : 47 Question Id : 8643512207 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following is least basic ?
Options :

(CH;CO),NH
8643516635. S

8643516636, (“21s)2NH

(CH.CO)NHC,H
8643516637, \— 3V 2775



(CaH %
8643516638, 2 53

Question Number : 47 Question Id : 8643512207 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
g4 -T2 g ® ?
Options :

8643516635, (CH3COLNH

(C-He),NH
8643516636, "2 1572

(CH;CO) NHC,Hs

8643516637.

(CoH: RN
8643516638, |21 1503

Question Number : 48 Question Id : 8643512208 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Ammonolysis of Alkyl halides followed by the treatment with NaOH solution can be used to
prepare primary, secondary and tertiary amines. The purpose of NaOH in the reaction is :
Options :

8643516639, to remove basic impurities

8643516640 to activate I\IH3 used in the reaction

8643516641 0 Increase the reactivity of alkyl halide

8643516640, 'O TEmove acidic impurities

Question Number : 48 Question Id : 8643512208 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Ufewal TeEel &1 TAMTSTTSET aquean NaOH fae=m ¥ TR, &1 matq, f5ias @ gias
THAT =1 TAR & fad I9En o o1 S 21 sifafEar § NaOH %1 3294 @ -



Options :
8643516639, I SRIIGAT T & |

8643516640 AR H IUAM i Tg NH, 1 ICHHT FT |

ifehel SSE FT SAFHTHATIEd 5 |
8643516641, .

8643516642.

Question Number : 49 Question Id : 8643512209 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following polymer is used in the manufacture of wood laminates ?
Options :

643516643 Melamine formaldehyde resin

8643516644, Crea formaldehyde resin

8643516645, CisPoly isoprene

8643516646. Phenol and formaldehyde resin

Question Number : 49 Question Id : 8643512209 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
frAfafaa § 4 79 Tga =1 ST @FEl & U2aq & Sded | 41 91 €2
Options :

8643516643, TCTHM-HiHCERTES e

i wifesiens I

8643516644

8643516645, EEIE IRl

TR vEﬁIETsT;’\ I

8643516646



Question Number : 50 Question Id : 8643512210 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The secondary structure of protein is stabilised by :
Options :

3643516647, AN der Waals forces

8643516648. PC‘ptIdD bond

8643516649, 1ydrogen bonding

8643516650 glycosidic bond

Question Number : 50 Question Id : 8643512210 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

WEH it fadias @ ool fer A 9 €, 9w e
Options :

8643516647, WEE WERE WEh

8643516648, T oree

8643516649. 3

TATEHEGE] Y

8643516650.

Chemistry Section B
Section Id : 864351148
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20



Mark As Answered Required? : Yes

Sub-Section Number : 1
Sub-Section Id : 864351148
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 8643512211 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

When 35 mL of 0.15 M lead nitrate solution is mixed with 20 mL of 0.12 M chromic sulphatr_-

solution, %10 ° moles of lead sulphate precipitate out. (Round off to the Nearest

Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 51 Question Id : 8643512211 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

w1 0.15 M o1 522 % 35 mL fae@= &1 20 mL, 0.12 M Hifqs 9othe F faoma 4 fafgq =0 €
A %105 U 92 TR FE4d @ W g1 (e i §)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643512212 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Ga (atomic mass 70 u) crystallizes in a hexagonal close packed structure. The total number
of voids in 0.581 g of Ga is %x10%!. (Round off to the Nearest Integer).

[Given : N, =6.023 x 10%]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText



Possible Answers :

100

Question Number : 52 Question Id : 8643512212 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Ga (=7ftas Hefd 70 u) TF weamig fafas dFe Fw= # fFefaq @@ 21 0581 g Ga ¥
fifmati i deme _  x102 (Fiheaw quis ®)

[ & : N =6.023 x 102

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643512213 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The number of orbitals with n=5, m;= 2ig (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643512213 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

n=>5 U my= +2 F A= FHE T (Treaw quiE H)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 8643512214 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

At 25°C, 50 g of iron reacts with HCI to form FQCI?_. The evolved hydrogen gas expands

against a constant pressure of 1 bar. The work done by the gas during this expansion is
].

(Round off to the Nearest Integer).

[Given : R=8.314 ] mol ! K~!. Assume, hydrogen is an ideal gas]

[Atomic mass of Fe is 55.85 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 8643512214 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

25°C T 50 g 3@ HCl ¥ AAf4fean #3 FeCl, faifaa w31 2| frifad 2esem T =1 1% fer =
1 bar % fa%g TR &@ ¥1 39 T6RW ¥ 9 5@ fF T wE ® ] (FeFeas quiw #)

[fe & : R=8.314  mol -1 K. TggIoM #1 31ed @ 71 hifira]
[Fe &1 enfvas Hefd € 55.85 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643512215 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

At 363 K, the vapour pressure of A is 21 kPa and that of B is 18 kPa. One mole of A and
2 moles of B are mixed. Assuming that this solution is ideal, the vapour pressure of the

mixture is kPa. (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText
Possible Answers :

100

Question Number : 55 Question Id : 8643512215 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

363 K9 A 1 9159 =14 21 kPa 991 B #1 18 kPa ¥ 1 A % Us Hic1 &1 B % 2 Hiel & 919 fafga faan
%1 TaerEa =1 ey 9F X fagu &1 a1 9 © kPa (frereas quis #)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 8643512216 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Sulphurous acid (H,SO,) has Ka;=1.7x10~ 2 and Ka,=6.4x10"5. The pH of 0.588 M
(Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 8643512216 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

TERE 3% (H,50,) F fa Ka, =1.7 x 10" 2 9 Ka, =64 x 10~ 321 0.588 M H,SO, &I pH
¥ (TFFeam quis )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Question Number : 57 Question Id : 8643512217 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A 5.0mmol dm 3 aqueous solution of KCl has a conductance of 0.55 mS when measured in
a cell of cell constant 1.3 cm ~ L.
1

The molar conductivity of this solution is _

mSm? mol ~!. (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643512217 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Ud feoiF 1.3 cm L &6 8 § 5.0 m mol dm ™~ 3 KCl & S&0ta faeaa =1 S 9199 72 0.55 mS
A & 59 fae=m #1 Her Jewd § _ mSmZmol ! (fiFemm uiE #)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643512218 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A and B decompose via first order kinetics with half-lives 54.0 min and 18.0 min respectively.
Starting from an equimolar non reactive mixture of A and B, the time taken for the
concentration of A to become 16 times that of B is __min. (Round off to the Nearest

Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Question Number : 58 Question Id : 8643512218 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A T B 1 WYH FIfe FI Tkl T AT FT -3 FHA: 54.0 min G471 18.0 min &1 TH
- ATIFATIE TR A 941 B & {90 H A0 & o9 A FI igdl B F1 39T 16 T 59 797
& S 9% 999 © min (FreFemm quiF #)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643512219 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

[Ti(H,O).]°* absorbs light of wavelength 498 nm during a d —d transition. The octahedral

splitting energy for the above complex is - x10~ 1B J. (Round off to the Nearest
Integer). h=6.626 %10 H Js; c=3x 108 ms ™1

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643512219 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

d —d HF"0 H [Ti(H,0)J3* 498 nm TORS % U9l F =i F2a1 1 SR YFa H
AeFAFA famea s+ ¢ x 1019 (e qui® H)

(fem % : h=6626x10"3Js; c=3x108 ms 1)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Question Number : 60 Question Id : 8643512220 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In Duma’s method of estimation of nitrogen, 0.1840 g of an organic compound gave 30 mL
of nitrogen collected at 287 K and 758 mm of Hg pressure. The percentage composition of

nitrogen in the compound is . (Round off to the Nearest Integer).

[Given : Aqueous tension at 287 K=14 mm of Hg]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643512220 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

=g fafy | e2em #1 e T H 0.1840 g FrEH AfTH % ey 287 K 791 758 mm Hg <14
W 30 mL SIS THA H T | AT § Aseed w gaeE gfawa e (Fiedw quits
H)

[femn & : 287 K W Seltd o919 14 mmHg%]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Mathematics Section A
Section Id : 864351149
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1

Sub-Section Id : 864351149



Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 8643512221 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the foot of the perpendicular from point (4, 3, §) on the line L : s ? R | R

I # 0 is (3, 5, 7), then the shortest distance between the line L; and line

i, % zzy 4=z Sisr_-qualtn:

Options :

1
8643516661. V6

8643516662.

1
8643516663. V3

|
8643516664, V3

Question Number : 61 Question Id : 8643512221 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i .' > A * = b T
AL, : 2 : B 5”3 S 4'“,&0%f‘ag(at,:;,amammm{ls,?)%z?nmul

amYEiL, X =2 _Y =4 _ Z- 5 % wt gaen g e
ol i 4 5

Options :
Ly

8643516661. V6

r | =

8643516662.



1
8643516663. V3

NG

8643516664, 12

Question Number : 62 Question Id : 8643512222 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let the lengths of intercepts on x-axis and y-axis made by the circle x? + > + ax + 2ay + =0,

(a<0)be 2.2 and 2\.@ , respectively. Then the shortest distance from origin to a tangent to

this circle which is perpendicular to the line x + 2y =0, is equal to :
Options :

8643516665. V10

—

1

.5

8643516666.
8643516667 V7
e

8643516668

Question Number : 62 Question Id : 8643512222 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A F4 22+ 2 +ax + 2ay+c=0, (a < 0) G x-H TN y-19 W a4 T Al HI eramar
FAEW: 2.2 A0 245 | A 76 g9 F UF T W@, SOy 2y =0 F oraad 8, # gerag 4

I o T E
Options :

8643516665, V10
8643516666, V11

8643516667. V7



J6
8643516668. v

Question Number : 63 Question Id : 8643512223 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

sm [ A A A

Leta =i +2j-3kandb =2i -3j+5k. fr xa=b x r, r-lai +27 +k) =3

— / A s

2
and r- 2.;'. t5j u--k.) = — 1, a € R, then the value of a1 ‘ r| is equal to:

Options :

8643516669.

8643516670 L1

8643516671, 12

8643516672. e

Question Number : 63 Question Id : 8643512223 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

— e

Wl a =i +2j -3kT@Mb =2i ~3] +5k 1 AZr x a = b x

iy
r

r

—3 | A\ A

%\ " ; 2
r- ui.lzj-lﬁ’._=3ﬁm I'[_ZI'.ISIJI‘. u‘f]= 1,.L1'ER%,ﬁTtI|‘I EﬁTﬁHW%:

Options :

8643516669.

8643516670, 11

8643516671, 19

8643516672. 2

Question Number : 64 Question Id : 8643512224 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let f be a real valued function, defined on R —{—1, 1} and given by

|x — 1| 2

I g |x [ 1| x—1

Then in which of the following intervals, function f(x) is increasing ?

Options :
8643516673, | 0 <)o L 1}
1
(=1 U (I3, =) - 1))
8643516674, k /
1
(— o, Eﬂ 1—1}
8643516675.
1
1.5
8643516676. “

Question Number : 64 Question Id : 8643512224 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AR {1, 1} R 9Rfoa o= arafas 96 werd f

'|x|1| x—1"

B fem T ®  wed f(x) A O T siaue | 9dmE g7

Options :
sea3si6673. L )~ 1-L 1
(—=,—1) v ([% * ) {1”
8643516674 \ ]
4
[— o=, 2] (-1

8643516675.



8643516676. -

Question Number : 65 Question Id : 8643512225 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

_ = .
If the points of intersections of the ellipse E | b_z = 1 and the circle x¥2 4 y3=4b, b > 4 lie

on the curve L.r2 =322, then b is equal to :
Options :

8643516677, 2

8643516678, ©
8643516679, 1V

8643516680, 12

Question Number : 65 Question Id : 8643512225 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

- ¥
-~ _nr X .I-.III‘_ . = Y L - A
R e 1 q41 99 12+ y2=4b, b > 4 = Wfd=ed fag ok P2=32 R Fga & @ b
3y

AT R
Options :
8643516677 °

6

8643516678.

8643516679, 1U

8643516680, 12

Question Number : 66 Question Id : 8643512226 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Let C be the locus of the mirror image of a point on the parabola y>=4x with respect to the
line y=2x. Then the equation of tangent to Cat P(2, 1) is :

Options :
8643516681, * T3V =2

s SO
8643516682, X 1Y =3

8643516683, ¥ Y= 1

- Yy = ¢
8643516684, ¥ T2V =14

Question Number : 66 Question Id : 8643512226 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T TEed 2 = 4x W UF &g %1 0@ y=x F 999 v wfafe= &1 fagea C g1 1 PR, 1) WC
1 TI9 T T HHE

Options :
8643516681, X Y =5

2x y= 5
8643516682.

8643516683, X Y1

L
8643516684, ¥ T2V =14

Question Number : 67 Question Id : 8643512227 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let A denote the event that a 6-digit integer formed by 0, 1, 2, 3, 4, 5, 6 without repetitions,
be divisible by 3. Then probability of event A is equal to:

Options :
4
8643516685, ¢



~3| W

8643516686.

h}|r—1
[

|

8643516687.

8643516688.

Question Number : 67 Question Id : 8643512227 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
THT A, 31 0,1, 2,3, 4,5, 6 5/ fa1 TG & 9% T 6 Al S 9@ F 3 9 fFafea 29 #

A1 1 S9N 2 | A T2 A FT WET U T
Options :

O |

8643516685.

~3| W

8643516686.

Id‘|r—1
[

|

8643516687.

8643516688.

Question Number : 68 Question Id : 8643512228 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

) _ _ : _ . dy _ . 2.
If y=y(x) is the solution of the differential equation = F(tanx) y=sinx, 0=x= X with

o
y(0) =0, then H[IJ equal to :

Options :

8643516689, =



- i
E Ingﬁ_

8643516690.

log_ 2
8643516691. Be
5

— 2
7 Ingﬁ 2
8643516692.

Question Number : 68 Question Id : 8643512228 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

aT

Fad a d \. .
A T T f F(tanx) y =sinx, 0=x=—, F1 T y=y(x) T 5F y(0) =0, @ L'E]

T2

Options :

.lx 1 .\|
log 2

L 2J2 ) OB

8643516689, V2

- i
E Ingﬁ_

8643516690.

log_ 2
8643516691. Be

%
— 2
7 Ingﬁ 2
8643516692.

Question Number : 69 Question Id : 8643512229 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

-rcns_l{l {x}z}sin"l{l xh) .0
Let @ ¢ R be such that the function f(x)= 4 {x} {1}3 i is

lo, x=20

continuous at x=0, where {x}=x—[x], [x] is the greatest integer less than or equal to x.
Then :



Options :

8643516693, @=0

8643516694, N0 such o exists

o=

8643516695. ¥

|jj| =

=
=
Il

= | =

8643516696.

Question Number : 69 Question Id : 8643512229 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
lcos™H(1 - {x}2) sin~ 11 - f))
AM a e R 59 TR 8 fF Fed f(x) = - o

lox, x=1

,x =0

x =0 Had &, Wl {x} =x — [x], [x] 7&H Ui < x &I
Options :

8643516693, @=0

9 UFNE F o T A T8 2

8643516694,
= —%%

8643516695. V2
o — .—"T

8643516696. 4

Question Number : 70 Question Id : 8643512230 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



If (x, y, z) be an arbitrary point lying on a plane PP which passes through the points (42, 0, 0),

(0,42, 0) and (0, 0, 42), then the value of the expression

' x—11 y—19 z—12 x+y+z
A 2 ) ' 7 2 2 :
(y—19)" (z—12) (x-11)" (z—12) (x—-11)" (y—19)° 14(x—11) (y-19) (z—12)
is equal to :
Options :
8643516697. 45

8643516698, 29

8643516699. 0

8643516700. 3

Question Number : 70 Question Id : 8643512230 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T fegat (42,0, 0), (0, 42, 0) T (0, 0, 42) | BT FH =16l FHTA P W (x, y, z) U =9 faig %,

',{ x—11 Y 19 z=12 x+y+z
. 5 51 5 5 5 5
w—19) (z—12)" (x—11)" (z—12)" (x—11)" (y—19) 14(x—11) (y—19) (z—12)
FHAE :
Options :
8643516697,  +°
8643516698, 22
8643516699, ©

8643516700, 2



Question Number : 71 Question Id : 8643512231 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let A={2, 3, 4,5, ..., 30} and ‘=" be an equivalence relation on A x A, defined by
(a, b) = (c, d), if and only if ad=bc. Then the number of ordered pairs which satisfy this

equivalence relation with ordered pair (4, 3) is equal to :

Options :

8643516701.

8643516702.

1

8643516703.

8643516704.

Question Number : 71 Question Id : 8643512231 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TN A=1{2,3,4,5,.,30} 90 AXA R, (a, b) ~ (¢, d), A% AR Faa 9 ad=bc T, A
TfeIfod U qodan Hes &1 ol HiHd JE w1 e, 9 hHd I (4, 3) F W4 79 qodd Hed
ﬁwm%%

Options :

8643516701.

8643516702.

|

8643516703.

8643516704.

Question Number : 72 Question Id : 8643512232 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



|
LetP(x)=x>+bx +chea quadratic polynomial with real coefficients such that L}P{l'} de =1

and P(x) leaves remainder 5 when it is divided by (x —2). Then the value of 9(b +¢) is equal
to:

Options :

7
8643516705,
8643516706, 2

8643516707. e

15
8643516708.

Question Number : 72 Question Id : 8643512232 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

mmmﬁﬁmgﬁﬁhHQ$%mﬁamgamﬂ=ﬁ|hmcsﬂwﬁ1%ﬁfﬁﬂﬂdx=l%am

P(x) 1 (x— 2) ¥ faifod 37 T 9% 5 A &1 T 9(b + ) 1 HH =R T
Options :

7
8643516705.

8643516706, 2

8643516707. e

15
8643516708.

Question Number : 73 Question Id : 8643512233 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider a rectangle ABCD having 5, 7, 6, 9 points in the interior of the line segments
AB, CD, BC, DA respectively. Let « be the number of triangles having these points from
different sides as vertices and 3 be the number of quadrilaterals having these points from
different sides as vertices. Then (5 — «) is equal to :



Options :
8643516709, 1173

8643516710, 1890

8643516711,

95

e |

8643516712.

Question Number : 73 Question Id : 8643512233 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TF 999 ABCD, foa® T @i AB, CD, BC, DA & 3= ®HW: 5, 7, 6, 9 fag &, &1 fa=m
FITAC | FAT o 39 el #i G €, foqe v fom qenedi © 4 fag € a1 g =3 =gl &1 9en g,
o 9y fom el WA fag E1AT (B o) W E -

Options :

8643516709. 1173

8643516710, 1890

8643516711, /17
8643516712, /07

Question Number : 74 Question Id : 8643512234 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Consider the integral

g Lm[x] ol*] F

| D.‘L‘l g

where [x] denotes the greatest integer less than or equal to x. Then the value of I is equal

to:
Options :

8643516713, > (€t1)



9 (e +1)
8643516714

45 (e—1)
8643516715.

9 (e—1)
8643516716.

Question Number : 74 Question Id : 8643512234 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
HATEGTA

- [ e

] C‘I 1 r
=1 fo=R Fifo, Sl [x] Tew™ ot < x &1 o111 3 e
Options :
s6a3516713. > €11

8643516714, (€11

45 (e 1)
8643516715.

9 (e—1)
8643516716.

Question Number : 75 Question Id : 8643512235 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let A(—1, 1), B(3, 4) and C(2, 0) be given three points. A line y=mx, m>0, intersects lines
AC and BC at point P and Q respectively. Let A; and A, be the areas of AABC and APQC
respectively, such that Al =3Az, then the value of m is equal to :

Options :

8643516717. 1



4
8643516718, 1°

-
8643516719. ~

8643516720 °

Question Number : 75 Question Id : 8643512235 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T A fag A(—1,1), B(3, 4) 91 C(2, 0) f53 @ &1 U Tl y=mx, m>0 T@sii AC @91 BC #
A fagall P Ao Q W et 31 WA AABC A1 APQC % #5T%el H3W: A, 71 A, ¥ o ferg
Al=3ﬁz%', Tl m = HE == E
Options :
8643516717. 1
2
8643516718, 1°

-
8643516719. ~

8643516720,

Question Number : 76 Question Id : 8643512236 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The least value of z| where z is complex number which satisfies the inequality

((|lz] +3) (Jz]| = 1)
Izl + 1

3
loge 2| = log ;5 547 + 9il, i = V=1, is equal to :
J

Options :

7
8643516721, <

N
8643516722, V¥

8643516723.



8643516724, O

Question Number : 76 Question Id : 8643512236 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
z|, @l 2 U WAAG HEA €, H FAqH qH, S ST HH

f

(lzZl +3) (|z| = 1) )
log, 2
2 + 1] |

> log 5 157 + 91, i= -1 R GGRFAE, ¥ :

Options :

2
8643516721. ~

Y —;
8643516722, V2

8643516723. 3

8643516724, O

Question Number : 77 Question Id : 8643512237 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
' i : 2
sin“x 1 + cos“x cos2x
! ; . < 9 2 :
The maximum value of f(x)= |1+ sin“x cos“x cos2x|,xeRis:
; 2 :
sin’x cos“x sin 2x

Options :

5
8643516725, ¥

8643516726. 5

.\,"f:
8643516727.

3
8643516728. *



Question Number : 77 Question Id : 8643512237 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A : 2 5
sin“x 1 +cos“x cosix

-

flx)=1[1+4 sinZx cos“x cos 2x|, x ¢ R 1 #AT9FHaq 51 S&»’ -

g

e 2 s
Sin X cos X 51N

Options :

N

8643516725.

11

8643516726.

8643516727. V'

3
8643516728. *

Question Number : 78 Question Id : 8643512238 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given that the inverse trigonometric functions take principal values only. Then, the number

: DT - S - 9, D
of real values of x which satisfy sin lff | t sin 1(— | =sin"'x is equal to :
'\, S \ 4
Options :
8643516729, U

8643516730.

lj,
8643516731, ~

8643516732,

Question Number : 78 Question Id : 8643512238 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



7% fe=n 0 2 % wfaem emifade wer Fae 550 7F od © |
o ':'.I'- s [ st = =, = = s [} *
sin lf?ﬂ  sin 1(%} = sin” 'x | G FA A0 ¢ F AL HH H OGS E
L% r hY 4

Options :
8643516729, U

8643516730. .

2
8643516731.

8643516732,

Question Number : 79 Question Id : 8643512239 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let f: S — 5 where S=(0, =) be a twice differentiable function such that f(x+ 1) =xf(x). If
g :5 — R be defined as g(x) =log, f(x), then the value of |g"(5) —¢"(1) is equal to :

Options :
205
8643516733, 144

197
8643516734, 144

187

8643516735, 144

8643516736, |

Question Number : 79 Question Id : 8643512239 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

M f:S — S, W&l S=(0, =) T, & 9N FEFeHE FeM ¢ foads &1 f(x +1) = xf(x) T
AfG g : S — R, g(x)=log, f(x) G 9fIfd 2, @ [¢"(5) — ¢"(1)| T AF I T :
Options :



205
8643516733, 144
197
8643516734, 144
187
8643516735, 144

8643516736, |

Question Number : 80 Question Id : 8643512240 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
3 : : i : : di
Let C, be the curve obtained by the solution of differential equation 2xy aj = yz x2, x>0.

Let the curve Cz be the solution of

e
s ﬂ If both the curves pass through (1, 1), then

xX"—y

the area enclosed h}-‘ the curves C 1 and Cz is r_-qual o :

Options :

A
8643516737, °
8643516738, T 1

bt
8643516739, 2
8643516740, T T1

Question Number : 80 Question Id : 8643512240 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



HAT el FHIF 2xy % =y? —x%, x>0 FEA TH C, T qA
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/-
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Options :
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8643516739.

8643516740.
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Question Number : 81 Question Id : 8643512241 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



For real numbers «o, 3, v and &, if

2
(x2-1) A t.?u'n_l[}L l lw
N 4 dx

s
2
[_x4l 3x2 4 1_] tfm_l{}L l 11
A o)

. . . )
i Iﬂgﬁ(tm‘_l [l—llﬂ B tﬂl‘l_l[—ﬂl 1]] X ta_t‘l_l[l l 11 HC
x M \ ),

\ \ X s . X

where C is an arbitrary constant, then the value of 10(« + vy + ) is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 81 Question Id : 8643512241 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Frfas HENEl o, B, y 991 6 & fog, afg

) 2
(x2-1) 4 tan_l[x l 11
.

J .
lelw
J

dx
[_x'q‘l 3x2 1) ta_n_l[

X

= 2
=ulngﬁ(tm1 [1 Il Wllﬂtan {'1 lﬂlﬁtan_l[}L IIWIC%,EE?CW@?EW
\ E . , J

l"'.

2, W 10(at+ By + 5) F HFA SR B |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Question Number : 82 Question Id : 8643512242 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In AABC, the lengths of sides AC and AB are 12 cm and 5 cm, respectively. If the area of
AABC is 30 cm? and R and r are respectively the radii of circumcircle and incircle of AABC,

then the value of 2R +r (in cm) is equal to _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643512242 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

T 9 ABC H, ozl AC 91 AB &l ©IHE FHY: 12 cm G915 cm &1 378 AABC &1 &9
30 cm? & 991 AABC ¥ UfgH 3R a9 1 5918 F99: R AR, 2R + r F1 A (em H) TR
2 |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643512243 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If the distance of the point (1, — 2, 3) from the plane x+ 2y —3z + 10=0 measured parallel to

¥=—1 =9 £33
the line, — = = is
3 m 1

-,

% , then the value of \m is equal to
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Question Number : 83 Question Id : 8643512243 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

. g gy x—1 2= z4+3 . ,‘-?
e T 2+ 2y 3z +10=09 g (1, - 2,3) it vEn —— = mj= : H?WE;{T\/;%,

Al |lm| =1 °E e 8 |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643512244 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A M A e A A )
Let ¢ be a vector perpendicular to the vectors a = i + j ~kand b =i +2j + k. If

— + A .y — | — — |
i

C - 7 'ﬂc’:' =§ then the value of ¢ - \a X hJ is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643512244 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

o

TN GEH a =i +j - kWM b =i +2) + k % oad Th AW ¢ 2

A A A ] g

i+ j+3k)=8% @ c-laxb WA TR |

Ife ¢ -
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
Possible Answers :



100

Question Number : 85 Question Id : 8643512245 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Letf:R — Rand g: R — R be defined as

(x+a, x<0 J x+1, x<0
' and g(x) =
, x=0 8() |(x-=1)*+b, x>0

where a, b are non-negative real numbers. If (gof) (x) is continuous for all x € R, thena + b is

equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643512245 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

AAIf:R - RAMg:R =R

(x+a, <0 [ x+1, x<0
flx) =4 £ =0 T 8(13—t

LF—1 (x—1)%+b, x=0

¥

B 9ftfud €, ST a, b FOTR arafas® €ed g1 afE (gof) (v) i x e R F AU Haa €, @a+b

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643512246 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



Consider the statistics of two sets of observations as follows :

Size Mean Variance
Observation 1 10 2 2
Observation 11 n 3 1
_ _ P _

If the variance of the combined set of these two observations is X then the value of n is
equal to o
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100
Question Number : 86 Question Id : 8643512246 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

== &1 5 USUI F <1 99l #i Wil #1 foan it

I H=g P EERY|
ey | 10 2 2
eq 11 n 3 1
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afe 57 21 Fequil i TRt =9 9 1 T — 2, o n H OF 90§ .
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643512247 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



n k
: 1
Let n be a positive integer. Let A = E (1) " {( W l
L2
k=0

If 63A=1 %’{.} , then n is equal to
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643512247 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

T n TF TAIEE Ui & q91 A = i{ b nc, [(El]k ' GT ' (qk | [E]k ' {%WL]

k=0

¥ aft 63A=1 %%’,fﬁnw% |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643512248 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

d

—[b
Let A= Ll ] and le 1] be two 2 x1 malrices with real entries such that A =XB, where
dz

by

1 [1 -1 B 5 dEo e :
K:ﬁ[-l : },amﬁl keR. If a +a3 = =(b] +b3) and (K2 +1) b # ~2b; by, then the
value of k is

Response Type : Numeric
Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 88 Question Id : 8643512248 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

nﬁwz:f;l%ﬁaﬂaﬁﬂa:{ .
2

NEL B=[ ]%WWW%HWA=KB%,E%T
dz

| 1 [1 =17 4 . g B : -
x:i[ k}ﬁ?ke[{%lﬂﬁal |a;_=_;i_h1 Fby) AA(K2+1) b3 # —2b, b, T, WK

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 8643512249 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

1 _ y
Let 16 a andbbein G.P. and —p

%, 6 bein A.P., wherea, b> 0. Then 72(a+b) is equal to
a

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 8643512249 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

1 . 1
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 8643512250 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let

Sp(x)=log yx+log yx+log wyx+log vy x+log iy x+log 1y x+..... up to n-terms,
a2 a3 ~ash “a1 “as18 “asrs

where a > 1. If 5,;(x) =1093 and 5,,(2x) =265, then value of a is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 8643512250 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

HHAET 5, (x) =lnga}éx I logaHx I loga},{:x I 10831{13{ I 1“33}:{33: I loga}i__x F ... ngE] o,

el a> 181 Af€S,,(x)=1093 A S, (2x) =265 &, O a T A 9= & ____

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



